Solving Unknown

Variables & Acceleration.

Acceleration: is the rate at which an object changes velocities.

Acceleration = Final Velocity (Vf) –Initial Velocity(Vi)




                    Time

Units for acceleration : m/s2

Is it possible to have a negative acceleration?

Yes, when you slow down.

If you have all of the measurements in a problem except for on you can solve for that unknown by getting the unknown variable by itself.

The first thing you should do when you are trying to calculate an unknown variable is write the equation that you are using.

Example:

If a car was traveling at a velocity of 15.5 m/s and accelerated to a velocity of 35.8 m/s and an acceleration of 4.5 m/s2, how long did it take for the car to accelerate?

Acceleration =  Vf - Vi





    Time

Vf = final velocity, Vi = initial velocity

The second thing you need to do is substitute the numbers in the problem for the variables (letters) in the equation.

Vf= 35.8 m/s

Vi = 15.5 m/s

T= ??

Acce.= 4.5 m/s2

The last thing that you need to do is get the unknown by itself in the equation.

You can do this by doing the opposite math function on both sides of the equation.

4.5 m/s2 =  35.8 m/s – 15.5 m/s

                           T

     T x 4.5 m/s2 =  35.8 m/s – 15.5 m/s    x T


                                      T

T x 4.5 m/s2 = 20.3 m/s

    4.5 m/s2      4.5 m/s2

T = 4.51 s

